rain leaves a station, P, and accelerg
g tes fro -
ches a speed of 24ms-1, [t Mmaintaing thim rest with a co
th a deceleration of 0.2m s, uni] it come

nstant acceleration of 0.4 m s~ until

S speed for 6 minutes. It then decelerates uniformly
S to rest at station Q.

Draw a velocity-time graph of the journey from P to Q, labelling

all the relevant times.
[5 marks]

[2]

s™!, and decelerates uniformly at a

Calculate the distance PQi

(time =05, a body passes the origin with a velocity of 60 m
rate of4ms™

Determine the time at which the body is at rest. [2]

. Determine the times at which the body is 400 metres from the origin. [4]

points A, Band Clie on a straight line. The distances AB and BC are 80 m and 96 m respectively.

A particle moves in a straight line from A to Cwith an acceleration of 4m s It takes 5 seconds to
ravel from A to B. Work out

. The speed of the particleat4, i

‘The time taken for th"e;parﬁdé.to&ﬁ.ﬁvef from Bto C [6]

[2]
[3]
ween t=0sand t=5s [5]

gat27ms™, and the police car is travelling
vith the police car, the police car accelerates

(5]
[2]

(3]

(3]
(2]









